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1.

R EATAVEEEE 520 0 4R AAEIEE 580 » BJ LS PPDI
(pre-to-post difference index) & 47 ?
(1).20

" (2).40

(3).60
(4).80

T AT 4 R R B E B 9548 7
(O8EY; 3

(2pc B

CIERAE

(OP3-27 % -3

- FIMTHGET A MRES c AP TRERRAAOHMNE?
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L TFAE RS EFTERGRETN > NHBHAH PR ET?
(e EEFE
() i b3
()HEf kT F
(CE-E0 305 4

. FIMTAAE A BB HEAH S EE  FAREETLEEAERE - MY
AR 4003842 ? -
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(3)FHh

G- %o

B EANSRES W ERE 0 T AT S KA BRI s A 7
(1)48 5045 $£.50 » ¥ 7 4 ££.50 -

(2)4B 7145 #0.35 > e E 45 465

(3)4E 145 8£.20 » ¥ fe 45 $0.80

(4)2 3152005 » #5295

. T RTH R BT B 7
M E

(#3E:9:3

@) Em

OF 3:473
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(Defk

()##

O
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10.

11.

i2.

13.

14.

FHITERRMBFENAR?
(1) T A 8 & ahAeBEAT B

OHEBBEE T 54

()52 % B AR H0E A

(OEFE-FXET _

R DML RAEH NN 27%MAZH LA MRG0 2T RAMELTE - R
# 200 A% s RS~ maassA S0 A 31 AXEHME
RIEEERMES DT

(1) 0.65

(2) 0.70

(3) 0.75

(4) 0.80

BEARGHF EREY  THHLFT RS REZE > THMEAE?
(1)34a 3 B

()i & Rl

() fe e

(4)2 3 BAERR 5

F 5| AR S 0 BRI R SP RS ER ) MESBAEANBE?
(1) B ¥ 3288 |

)3k % B3

G)ERANHE

(4)ilty 2 A

ERAML TR ARG I NARRRE ? AUEHA LI E (#5374 Bloom
2001 WeAMHMF ARG HE) 7 BuoBREdEaHEART

(DA (Apply)

(2)sr#t (Analyze)

(3)#F48 (EBvaluate)

(4)3@1& (Remember)



15, F T4 B A F B A RBR5% 7
()% f s
()8 ¥ kA4 J) M
(3)HLEF F 84k A
(M2 RIAFBREAREL R

16. LUFA RAE RS E e Fik ?
(1)Mean and mean method;
{2)Mean and sigma Arnethod;
(3)Item characteristic curve method;
(4)Signed arca method

17. BCF AR 3tk f il A R AR B ST i S Sl A A S 7
(1)Joint maximum likelihood estimation
(2)Marginal maximum likelihood estimation

(3)Conditional maximum likelihood estimation

(4YOwen’s procedure
RTFHRE 8RN - SRS LRWDLTHF 182048 ©
%) $his A5 %] L e
1 MULTILOG 5 SIBTEST
2 | Winsteps 6 | BILOGMG
3 ConstructMap 7 PARSCALE
4 TESTFACT 8 ConQuest
18. B gk A8 % - # N A A T 244k Rasch 547 - B
(HosN=<2
(2)3sN<4
(3)5<N<6
(4)7<N<8
19. s g+ o & N4 #4824 A Likelihood ratio test i i 47 DIF 4] » R ¢
(1)osnN=2
(2)3sN<4
(3)5<N<6

4)7<N<8



20, R # B o A NAEEAET#AT S @ E (multidimensional ) 2-47 » A :
(NosN<2
(2)3sN<4
(3)5sN <6
#T<N<8

Pogy  HEARNSE (BE5 5 A2045)

L Bhlsmiead (6) & 20 EEBESHA 2 R FAEERRE
JR 4 Rasch # X - s &% F 7| F1 A8 ¢
(1)3% % 8 Rasch#isX » BWBELHOTH
(st B A S SRR B AR R
@G r N RESE S A SERB 2 A E (Fisher information) Z47 ?
(4)3% Aok 8 R 2 At 4t (ICC) » BA%R L E » B ARFRho it

ICC kA& h3RAR OB -

R4y £ARBRE (BES S X205)

1. 5 #¢45 2tk (Local Independence)

2. REy % 4L (Test Equating)

3. #AM L & ¥ (Item Information Fuction)

4. 26 48 320 K 32 % (Testlet Item Response Theory)



20, R # B o A NAEEAET#AT S @ E (multidimensional ) 2-47 » A :
(NosN<2
(2)3sN<4
(3)5sN <6
#T<N<8

Pogy  HEARNSE (BE5 5 A2045)

L Bhlsmiead (6) & 20 EEBESHA 2 R FAEERRE
JR 4 Rasch # X - s &% F 7| F1 A8 ¢
(1)3% % 8 Rasch#isX » BWBELHOTH
(st B A S SRR B AR R
@G r N RESE S A SERB 2 A E (Fisher information) Z47 ?
(4)3% Aok 8 R 2 At 4t (ICC) » BA%R L E » B ARFRho it

ICC kA& h3RAR OB -

R4y £ARBRE (BES S X205)

1. 5 #¢45 2tk (Local Independence)

2. REy % 4L (Test Equating)

3. #AM L & ¥ (Item Information Fuction)

4. 26 48 320 K 32 % (Testlet Item Response Theory)



B id PHETRBALTANEFEMRATE LI
13 A& &R
A2 EA

A% 4 : 5 NhhT A %

B-a  EEMEE2 S £609)

1.

3.

#BE CPU e e g 454 (instruction) W > ¥4 A4 L H SAMEER
HAEES CPU 8 ? '

(A) ##IE##Ht (control bus)

(B) 4ws:EiR#k (address bus)

(C) + ¥ 3k (interrupt)

(D) #HEHH (databus)

i CPU g4kl » FFRMTHE R

('A) Intel 44 Pentium & J§ # CISC(Complex Instruction Sct Computer) 4244 -
(B) Apple # Power PC & & # RISC(Reduced Instruction Set Computer)Zg % -
(C) RISC tosz CISC A 0 % 47 5 -

(D) CISC#— B4 THENRISCHREHSE -

23t SRAM fu DRAM g9 43t - TR HAH -

(A) SRAM # Static Random Access Memory : DRAM # Dynamic Rando:‘m
Access Memory © _

(B) SRAM 477 &) H#F & % refresh » DRAM § & refresh -

(C) SRAM £ THHEFHEHEE  DRAM A THMESHERARTR
T

(D) SRAM #v DRAM #<T ;A5 4F ERE 40 ST IR -




4 B2 HHBPTFII MR S kRS AT ELRM?
(A) 5216+4016 ‘
(B) C216+E216
(C) A016+4216
(D) 3216+4116

5. FHA&RER
Procedur value(x,y,z);
begin
X=yREy=X-2;
end;
begin
a:=1;b:=3;c:=5;
value(atb,b,b)
wrteln(a,b,c)
end.

4 /A 484 % (call by value) » A7 F|Ep b by 45 B 4T 4 ?
(A)4

(B)3

(C)s

(D)7

6. HF—fAsbf(record) sy xR X EAB XK AN —HIAFTA-RFEE
UES T T |
(AYE & = (call by value)
(B){% # == (call by name)
(C)4# 123 (call by address)
(D)4 8 e =4 (call by value resul)




7. 4RstiT P (Tower of Hanol) P 2/ ABCZ@& T # ALRSH 4 @A
NREERB CELEBHERT
(A)12 %
B)14 4
(©)15 %
D)16 %

8. #TF % Graph & » f7%" Euler Path” ?

A

.EAR

9. A&k % F)(Linked List) B B 7| (Array) A4 47 B A 47 0 3 51 85 - F Al g3k 4T &
4R 7
(A)f# Insertion 8% » Linked List 4k -
(B)# Deletion 85 » Linked List &8t -
(C)i#k Search 8% : Linked List # 4 -
 (D)EE kRS TH - Amay Bl -




10. 72 OSI @ B 4% F telnet 24— & A7 iR4L a0 FRA 7

11.

12.

13.

(A) BAR

(B) A%

(C) Fkehss i

(D) #4 5

M T EE S A5k FTH4ETERER?

(A) (A+BY/C-D*E #71/F %, (prefix) %-/+ABC*DE -

(B) (A+B)/C-D*E #4484 &, (postfix) % AB+C/DE*-

(C) #AK (infix) it AKX # 7 8FR K, (assembler, compiler, ...) R
(D) 45 R HAFE L R MITIY 44 A 2 A (stack) FHHEH

SURBREEFER TR EF G DMAPS 9717110140+ 510 3§
F—EaaHE BN RERTITE?

(A)9 150+ 145115 17 » 10

(B)9> 5511 1419+ 17 10

(C)9+:5-9:14-11 17+ 10

D)5-9+:9:14-11 17> 10

AT HHREF kT 05 LA KNSR EME (Time Complexity) ?

- (A $EA 3 (Quick Sort)

14,

(B)se#f 3k A7k (Heap Sort)
(C)A B3k A% (Bubble Sort)
(D)E Ak % (Insertion Sort)

whak g eh sk B (Floppy Disk) + il A EHHHALA -
(A)e & e (Seek Time)

(B)i=m %3¢ 8 05 1] (Rotational Delay Time )

(C)FFER] ( Accc-ss Time)

(D)#F #H& 3851 (Transfer Time)




15, FHAHRRBELXTERR?
(AX+X-Y=X
B)X-Y+X -Y=X
OX-(X+Y)=X
O)(XA+Y) - (X+Y')=Y

16, AW ¥ SHPAL R —EELRA - FATATERARFEHN0YF
gAY
(A)real
(B)float
(C)double
(D)string

17. o+ B SR 0H4EL BN ELFRAES T
(A)constants F= variables
(B) main #= functions
(C)data members Fz member functions
(D)3c 7 8 o S 7 2 8 |

18. ffXgatd > ¥R (M, = TH, HESE S0 F AT aEa s

BEM?
(A)function
(B) pointer
(C)cases
(D)stack
19. Aty S@¥RAABENE  TAMFRQERFEN?
(A)f
(B)for
(C)while
(D)do




20.

21,

22.

23,

TR BT @ LR RAOEETRREEAEL?
(A)ywmv
(BYipg
(Cymp3
(D)wav
BAT T & Bk A48 DVD 5 £ # XA F 7474 2
{(A)ywmv
(B)rmvb
(Cavi -
(D)vob
FrlTEAHERERME 7
(A)Maya
(B)lustrator
(C)Dreamwaver
(D)Photoimpact
FrTEABERRTEL AT
(A)3D-Max
(B)CorelDraw
(C)AutoCAD
(D)Maple

24 FTAEFRRAXERESRE?

{(A)nano
(B)gedit
(C)KDE
(D)vim

25. FRTE RIS LMARB G R EE ?

(A)DNS
(B)ISP

(C)NAT
(D)Hub




26. FHMTHEHEEFRMBOEIEE?
(A)NAT
(B)ftp
(Cywww
(D)router

27. FHTH @S ENBEAR?
(A)MYSQL
(B)ASPNET
(C)TCP/IP
(D)PPPOE

28, FHMTHEFEZHATET?
(A)HTML
(B)XHTML
(CyXML
(D)NET

29, FHMARAMAHES ?
(A)Gecko -
(B)Chrome
(C)Firefox
(D)X onqueror

30. B AT Linux & S @ BTHEA > THAMERZE P27

(A)Fedora
(B)Ubuntu
(C)Debian
(D)Shockwave

o ARG )

I for3f parity check bit ? 33008 35 A A 2 445 - (10%)
2. FEmIwmMoiriis (Byte) RALEifra 0 4-difual” 15AE" K47
A20KB Ea o AR RS frak AT (SR AR ) 7 AL

B B AR F T o (15%)




3.

H 8-bit Wi A WANEHMAB9) 0 FHETHME  (15%)
(1) # 3% R% 3% sign-magnitude 77k » B b 44T 7 _
(2) 7 i EAGHR 2's complement K7k » B KA K BT 7
(3) 4 EHESE I’s complement & 7% » R ERK 577




CEERES PT RPN XY L LR
Gl X
3t A

I IS Ry i

Fdndr B (BM25 40 X254)

1.

2 —8 10 A E L FAE m&&ﬁ$Tuhﬂ&a9(ﬁaP&aﬁm&%
BE @ e )
1

(AH, :.P=E: H, :P$E

1 1
H,:p=—,H p<—
B)H,:p 2 1+ P 5

1 1
COH, . p2—, H,:p<—
(COH,:p 2 1P 2

1 1
(D)Ho:psa-, H,:p>5

- %fﬁsﬁﬁpsg 10 7oa8 % 100 R 8 H A EHE %&Hﬂ._ﬁtﬁ 51 RligE &R

BT ?

(A) B H,

(B) & EMERIUTFTEH,

(C) AR ZABREARFRE AR BTHE
D) m gk

. ﬁlﬁ#&%i‘(xﬁi&ﬁﬁﬁéﬁ(vdﬂ%f@—— ' 0<x<@ > SER A A X IR EE &4

H, :9=§:ﬁ-ﬂ, :B=§$&E » ZFEARC={X>1} R4 A YR 2 (type [ emor) Z 44

Bt ?
(A) 0.625
(B) 0.5
(C) 0375
(D) 0.25

L B AT AR SR R 4 2 3 E46 B (positively skewed) B R #4455 0 @ M,

M, o MRl RmE s PSR SN TAASER?
(&) M,>M, <M,



B) My>M,>M,
(C) MD <zﬂ"{e}.bfu
D) M, <M, <M,

5. XX, & Poisson 4B Z Mk A  BEHA N THALAFHERHZ RGBS
HE?
(A) x

®) Vnx

© 136-9

o) Jﬁgm—h’

6. F XX B Y,y BRI 0 BH R R G N(10) B N(u,15) Bk A » £ 2L
cX+(l-c)Y Rkt p RERAFBERS  McBBEED?
(A)0.2
(B)0.25
(©)0.75
(D) 0.8

7. F % Mde Mk dag 4l & o T H R Esfie ?
A) tabffadir=8MMlhtr=48 24
(B) #a Ml thdr =8 diia M A r=-8ayia M AR R
(C) #Bl AR F I FEeh A
(D) s k¥ gk

8. #8547 (ANOVA) Y sk He T8 5 6 &4 dn e B 2 AT JE SRt e AT RS fek 7
(A) HaTBAFRE
(B) b AHTTHE
(C) £mBREER0
(D) AP En0

9. 6%0? #) 95%4% # & ] (Confidence Interval) %(0.45 , 0.55) » %M FRESL o =05 613%
2
REZTHH, o=0, ik RERTHEAERZE?
(A) JE&H,
- (B) &% H,
(© FHAR : BikHE



(D) 2 k%3

1048 E PHEF AR T ARKSARAASERLSZFESER N(sz,woj > AR 100

ZB)A AR 10 £ 0 o M R ARSER A AL AT 7
(A) 62
(B) 66
(C) 69
D) 74

By BEM (BE4N 0 £405)

11.

12.

13.

Let ¥ be a continuous random variable with Chi-square distribution. Which of the following is
thep.d.fiof ¥ 7

Flatll) a-ify _ 8-

®) Fx) =378, 0=x<om

© flx)= 5'(:}9“ x* e fs, oggx<w

D) Flx) =@:mx”fz'ig"xfz' 0 x<om

Let ¥ be 2 random variable with discrete Geometirc distribution. Which of the following is the
pmfof X ?
(A) Flx)=p*(1-p)™ xz=01

(B) f(x) = ﬂ(:f_xypx(l_ p)ﬁ'-%i . *x=0,1,2,n

© F&@=@-tp  x=1,2
© =8, csnrsmnorsn,

Let X be arandom variable with continuous Exponential distribution. Which of the following
isthep.dfof ¥ 7
1 r

(A) flx) = Wat !2'12"‘;2; Q= xy<

(B) Fix) = ?—’::g:—f;}x““‘(i ), pexet

©) F(x) =%e—%, dsx<w

(D) Flx) ==tz x e 72, Q£x<wm
N MHa)g



14, F2—{gahialdg §f 445 (Canonical correlation analysis) ¥ » ¥ P T AT #F-430EH ?
(A) Rk B SR Hoerda il 55
(B) &M hsaBEA R
(C) Rk ol 4 S fodl 2] 9 L0948 B A 3L
(D) & HEEHeis B 1A

15. fe— &) % 7@ 85 535 (Multiple regression) ¥ » 55 B F 547 4 #5-4- H {x % # (Dependent

variable) s ?
(A) ARt

(B) # | 4
(C) & 2 EEREE
D) # 38K EH

16. & — 28 F B F % 2 #5497 (One-way ANOVA) + » 3 FAMTEF4 LB
(Dependent variable ) &y+E§ ?
(A) 2 F @t
(B) AEEKE
©) ABgas
D) =R %8

17. X is arandom variable with distribution function :

0, x=<-1
xr+2
F(x) = T —iswx<i
1, 1<y

If f(x) isthep.dfof X - then f(1} =7
@)

1
®) 3
©o
D)1
18. Let X be a continuous random variable, And,
I
Fl =25¢ e, O=x<ewe

Which of the followings is the expected value of X 7

[



(A)20
(B) 10
(C)40
(D) 400

19. Let X be a continuous random variable, And,
1 s
) =53¢ m, 0=v<o

Which of the followings is the variance of X ?
(A) 20

(B) 100

(C) 200

(D) 400

20. Let X be a continuous random variable. And,
5,4

2°x
f(‘xlw—ip e™ ™,  ggx<co

Which of the followings is the variance of X ?

Bz A (BE55 - A354)
21, wREHOF R PRRIE b L4 e(Poisson) » iR iK B % £ 40 A LR MM H#o5
AIRBR 1R 6K T HPEEARTEEERORERSD?

e-S . 50
@) ol




22.

23,

24,

25,

26.

BEP(AREBITERABORE > POIREFFEGABESENEE - ATREA W
Fk(complement) » 2 P(4%)=0.7 » P(B)=0.6 ~ P(AUR) =060 > W HEFH —F AR EH
A RE S B7

(A)0.3

(B) 04

(€ 0.7

(D) 0.8

XESDT L -AZETEATEE BET S5 40% ~ 30% - 30% > ML AT
BE 4B A 20%  10% ~ 15%  RIAE — KRB GO TREESRELS MY

(A) 0.49

(B) 0.39

(€)0.29

(D) 0.19

H- AR ART T EES > EZAXHIFROHRBE TR TE M3 BRT ME
AHPRHARRFTHEAR » AUBHRA T AT 4T A Ra g7

(A) t 2 Eo(t-test)

(B) # £+

(C) ANCOVA

(D) ANOVA

FRABLELALFEE TG > BWH AR TURES  2E S8l 1/ ¥4
SRR B 2 AR TR B S ® 3 B A BB
ﬁmm&%\sm% . % . -2 AR ML S 5 07 (R B
th # F AR F)

(A)2 o
® 5

©6

®)7

B Var(X) =16 ~ Var(¥) =9 + B Cow(X,¥)=—6 + AEAX +1622Y — 4 H % 32 48 M 1%
%9

@ 3

i



© 7

1
D) ~

27, X BN WEMAEX)=2  E(X*) =8 LP(2<X <OWBZTMRAES H?
(%% ¢ Chebyshev RE &)

A)
®)

©

== | BIE e

D)



